PLANT ENTERPRISES PRODUCTION							
Crop	Number of Producers	Acres	Yield per Acre		Total Production	Units of Measure	Gross Farm Value
FORESTRY							
Pulpwood							
Pine					8,617	cords	
Hardwood					· · · · ·	cords	
Pulpwood (Total)					10,080		
Chip & Saw					175	cords	
Saw Timber							
Pine					4,011,732	board feet	
Hardwood					1,481,668	board feet	
Saw Timber (Total)					5,493,400		
Total Pulpwood, Chip & Saw Saw Timber FOB Mill	,						\$3,277,872
Total Forestry Stumpage							\$2,130,716
Christmas Trees	*				250	trees	\$10,000
Forestry (Total)							\$3,287,872
FRUITS							
Citrus							
Satsumas	*	2.0	200.00		400	bu.	\$4,000
Citrus (Total)		2.0					\$4,000
Peaches	*	10.0	150.00		1,500	bu.	\$45,000
Fruits (Total)		12.0					\$49,000
FEED GRAINS							
Corn	*	750.0	100.00		75,000	bu.	\$170,250
Grain Sorghum	8	2,150.0	40.00		86,000	cwt.	\$310,460
Feed Grains (Total)		2,900.0					\$480,710
GREENHOUSE VEGETABLE	ES	-					-
Tomatoes	*	5,760.0	4.50	Yield / sq. ft.	25,920	lbs.	\$34,992
Greenhouse Vegetables (Total)		5,760.0		_			\$34,992

ANT ENTERDRIGED BRADUCTION ът

Page 1 of 6

PLANT ENTERPRISES PRODUCTION						
Crop	Number of Producers	Acres	Yield per Acre		Units of Measure	Gross Farm Value
HAY FOR SALE						
Grass	45	6,500.0	2.75	17,875	tons	\$893,750
Hay for Sale (Total)		6,500.0				\$893,750
HOME GARDENS	600					\$180,000
RICE	400	90,253.0	63.00	5,685,939	cwt.	\$45,487,512
SOYBEANS	250	54,308.0	12.00	651,696	bu.	\$4,047,032
SUGARCANE		ŕ				
Raw Sugar	*	3,147.0	5,000.00	15,735,000	lbs.	\$1,911,803
Molasses		3,147.0	150.00	472,050	gal.	\$68,447
Sugarcane (Total)		3,147.0				\$1,980,250
SWEET POTATOES		,				
Canning				64,400		\$128,800
Fresh				193,200		\$2,704,800
Sweet Potatoes (Total)	*	560.0	460.00	257,600	bu. (50 lbs.)	\$2,833,600
WHEAT	15	1,570.0	45.00	70,650	bu.	\$229,613
TOTAL ALL PLANT ENT	ERPRISES	,				\$59,504,330

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Fisheries	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
AQUACULTURE						
Crawfish (Farm)	200	18,000	Acres in Prod.	11,700,000	lbs.	\$7,020,000
Catfish (Farm)	*	350	Acres in Prod.	700,000	lbs.	\$476,000
Alligators (Farm)				23,130	ft.	\$393,225
Aquaculture (Total)						\$7,889,225
FRESHWATER FISHERIES						
Freshwater Finfish **	*			9,726	lbs.	\$5,164

Page 2 of 6

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION							
	umber of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value	
Freshwater Fisheries (Total) FUR ANIMALS ALLIGATORS (WILD)				1,049 127	pelts ft.	\$5,164 \$7,700 \$2,678	
HUNTING LEASES Waterfowl	45	20,000	No. Acres Leased		acre	\$1,000,000	
All Other Game	*	5,000	No. Acres Leased		acre	\$27,500	
Hunting Leases (Total)						\$1,027,500	
HONEY	*	2,000	No. Hives	200,000	lbs.	\$148,000	
TOTAL ALL FISHERIES & WII	LDLIFE ENTERPRISES					\$9,080,266	

** The marine, freshwater and oyster data presented here are for the year 2003 rather than 2004. Release of fisheries landings data by the collecting agencies occurs 4-5 months after the fact. Another reporting system was used in previous years, so this year's data are not directly comparable to that of previous years.

ANIMAL ENTERPRISES PRODUCTION Gross Farm Number of Units of Total Units of Animal Producers Production Production Measure Value **CATTLE & CALVES** Steer Calves 300-400 lbs. 1,250 head \$553,613 400-500 lbs. 1,000 head \$504,810 500-600 lbs. 450 head \$251,584 600-700 lbs. 300 head \$191,100 Steer Calves (Total) \$1,501,106 Heifer Calves 300-400 lbs. \$282,216 700 head 700 head 400-500 lbs. \$325,553 500-600 lbs. 350 head \$184,742 Page 3 of 6

	Number of	AL ENTERPRISES Units of		Total	Units of	Gross Farm
Animal	Producers	Production		Production		Value
CATTLE & CALVES						
600-700 lbs.				300	head	\$179,400
Heifer Calves (Total)						\$971,910
Yearling Cattle						
600-700 lbs.				500	head	\$318,500
700-800 lbs.				300	head	\$207,000
Yearling Cattle (Total)						\$525,500
Cow-Calf Pairs				1,300	pair	\$1,235,000
Cull Cows				500	head	\$205,318
Cull Bulls				100	head	\$91,845
Cattle & Calves (Total)	150	7,500	No. Cows			\$4,530,679
HORSES						
Brood Mares						
Race Horses	7	50	No. Brood Mares	40	head	\$320,000
Show Horses	90	100	No. Brood Mares	60	head	\$210,000
Recreation Horses	300	2,500	No. Brood Mares	800	head	\$1,200,000
Brood Mares (Total)						\$1,730,000
Stud Fees						
Race Horses		7	No. Stallions	210	mares bred	\$420,000
Show Horses		15	No. Stallions	400	mares bred	\$600,000
Recreation Horses		20	No. Stallions	75	mares bred	\$15,000
Stud Fees (Total)						\$1,035,000
Race Horses	10			35	head	\$350,000
Show Horses	25			45	head	\$180,000
Recreation Horses	300			400	head	\$600,000
Horses (Total)						\$3,895,000
POULTRY						
Broilers	15			2,500	lbs.	\$1,875

ANIMAL ENTERPRISES PRODUCTION

Page 4 of 6

ANIMAL ENTERPRISES PRODUCTION							
Animal	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value	
POULTRY							
Edible Eggs	200	1,000	No. Hens	1,500	doz. eggs sold	\$1,260	
Cull Hens				1,000	lbs.	\$150	
Breeder Flocks	20	250	No. Birds	2,000	doz. hatching eggs sold	\$760	
Pullets	*			75	each	\$131	
Poultry (Total)						\$4,176	
RABBITS							
Fryers	10	500	No. Animals	1,750	lbs.	\$1,400	
Does	10	600	No. Animals	2,000	lbs.	\$300	
Rabbits (Total) SHEEP						\$1,700	
Wool		1,000	No. Sheared	7,000	cwt.	\$1,960	
Slaughter Lambs				600	head	\$73,125	
Feeder Lambs				250	head	\$15,000	
Show Lambs				150	head	\$41,250	
Stocker Sheep				100	head	\$7,500	
Cull Sheep				350	head	\$19,250	
Sheep (Total)	85	850	No.Breeding Ewes			\$158,085	
GOATS Show Goats				40	head	\$7,400	
Slaughter Goats					head	\$5,250	
Stocker Goats					head	\$3,400	
Cull Goats					head	\$2,400	
Goats (Total) SWINE	15	100	No. Does			\$18,450	
Show Pigs				100	head	\$33,000	

Page 5 of 6

	ANIMA	AL ENTERPRISES PRODUCT	ION		
Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
SWINE					
Feeder Pigs			300	head	\$13,800
Slaughter Hogs			100	head	\$15,600
Culls			100	head	\$11,200
Swine (Total)	8	40 No. Sows			\$73,600
TOTAL ALL ANIMA	L ENTERPRISES				\$8,681,690
ACADIA PARISH	TOTAL				\$77,266,287